[image: image1.png]Please answer questions 7 - 11 based on the following data (§ in billions)

Disposable income

e $600 billion.

Consumption level

50 $100
5200 5250
$400 $400
5600 4350
$800 $700
7. Thelevelof aionomous consumpion i is economy is:
a0
b $100 billion.
¢ $135 billon
A, not calculable without addiional information.
8. Thelerelofinduced consumpiion at a disposable income of $600 bilon s
a0
b $250 billion.
¢ $350 billon.
d. $450 billion.
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The tax shown in the graph above is

o noninally progressive and regressive in effct.

b, nominally progressive and progressive ineffct,
¢ noninally proportional and progressive in efect

d. nominally proportional and regressive n effct,

Taking into consideration the recent trends in our balance of rade, ifC + 1+ G =
10,000, what would be the best estimate of C + 1 + G + Xn?

a 9000
b 9700
¢ 10000
d. 10300

e 11000



[image: image4.png]Within the economy of Country X, inventory levels at 01/01/2000 were $40 billion,
and on 12/31/2000 had risen to $43 billion; expenditures on plant and equipment
totaled $70 billion expenitures on new housing consirucion ofaled $45 bilion;

and total depreciaton or the year was $15 bllon. Nt investment or country X for
2000 was:

a § 90 billion
b $100 bllion.
¢ $105 billion
d. $120 billion.

e $135 billion.




